et

1 AN
1. LEA4
T4 )l iR 1 B rbhiER D 1 34T H
TEH 4 R8P IR R KN ERSR AT R R I 4
2. TENE

1) EB4

n

BRWYIEET T B &)

2) E I M R - M9 ST E

3) T £ 162 H ¥ H SF 64 7TH 5H
= AFn 64E12A13H

4) T EgE

i@ Aokt 5w m




(R B UL R R BRSO F8i Je

Vaviarel =1
B NERE
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OB HE R = 1 46, 148, 469
s T Y 1 3, 750, 436
PEHI T Y 1 2,490, 700 | FEH (FEBS) 840 m3
=2 ER
R H] (FBBS) 960 m3
U
FEIA (b=27) (WPB) 1 =K
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b S (WBh) 1 =K
+rb CE - ERREY L&) ;
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HELL = 1 37,656 |HIE L 40 m3
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T 2V 1 1,222,080 |#& s 1 =
= AN ToOH
b S (WBh) 1 =K
+rb CE - ERREY L&) ;
oAb S (WBA) 1 =K
U
avy)-MESE T 2V 1 31, 018, 600
KNI T 2V 1 31, 018, 600 |2v7)=} 1,030 m3
18-5-80 (7F&47B) W/C=60% ;
T 1 K
FEPR T -AR[E 6O T 2V 1 2, 965, 300
HERT 0y) T 2V 1 2,965,300 |FEFKT ny/) 73 m3
e iEdl
18-5-80 (7F&47B) W/C=60% ;
2831} 0.5 t
SD345 D35 ;
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TG #IBG1E T = 1 149, 805 | ykAb i 1 =
RIE - s
RS 2V 1 46, 148, 469
Il R Y 1 5,175, 500
s fEeE = 1 861, 500
Bt E g Y 1 331,500 |W/C3-pHlE# 1 2V
MT-200 + MT-300 + MT-400 ;
Bl RIEUER (FE L) Y 1 530, 000
Il (it L) Y 1 4, 314, 000
il T Y 1 51, 323, 969
Bl H e 2V 1 16, 113, 000
T =5 Y 1 78, 988, 263
— R B 2V 1 13,481, 737
T A0 =Y 1 92, 470, 000
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2y )= ()
BTy 22 m3
2y )bk ()
FGan Y 1 1, 058, 652
P BAAR ) T Y 1 1,058, 652 | KA+ 5 ki) 1 =
RS 2V 1 6, 659, 4194
Il R Y 1 1, 273, 800
st = 1 287, 800
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Il (it L) Y 1 986, 000
il TR Y 1 7,933, 294
Bl 2V 1 3, 618, 000
T =5 Y 1 11, 551, 294
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